Exercises

Factor completely.

A

L

on

6
7.
8

3x + 36

42? 4 162

z? — 14z — 40
x? 4 4r — 12
r? — 144

.t —16

{1z — 49

. 50z — 72

Solve the following equations.

16.
17.
18.
19.

20.

(z—4)2-9=0

(z —10)? =48 =0
2414z +45=0
r? + 6z — 10 = 30

472 — 100 =0

10.

11.

12.

13.

14.

21.
22.
23.

24.

C2x% — 162% — 18x

4x? + 17z — 15
—8z2 — 15z + 2
3 — 322 + 5x — 15
ors + 25r — 3s — 15

12522 — 64

. 2z% 4+ 128y°

6r? — 48r — 54 =0
172 + 22 = 12
0r2 + 7 —4 =10

322492 —-6=0

Lx? =5 —4r+20=0




Answers

10.
11.
12.
13.
14.
15.
16.
17.
15.
19.
20.
21.
22,

23.

24.

25.

. |i:1:.'2 +4)
(92 +T)

. 3z +12)

. dz(z + 4)

- (z—10)(z — 4)
4. (x+6)(z —2)
Az + 12)(z — 12)

(z + 2)(x — 2)
(92 — 7)

. 2(5x + 6)(5x — 6)

c 2x(x — 9)(x+ 1)

(4x — 3)(x + 5)

(—8z + 1)(z + 2)

(22 + 5)(z — 3)

(5r — 3)(s + 5)

(52 — 4)(2527 + 20 + 16)
(a4 40)(a - dzy + 1657
r=T7and z =1
r=10+4y3
r=-hand r= -9
=4 and r = —10
r=>5and r= -5

r=9%and r= -1

r=-—2and » = %
= —T\/103

: 18

o =3IAT

T= =55

r=2r=-2 andr=5




